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QUESTION 1

Which process is an external process for a Cloud data center?
A. Availability management

B. Capacity management

C. Service continuity management

D. Service level management

Correct Answer: D

QUESTION 2

What is not a security measure associated with the Single Sign On (SSO) principle?
A. Active directory authentication

B. Security token

C. SOAP protocol

D. Smart card

Correct Answer: C

QUESTION 3

Which communication protocol group is generally accepted on the Internet?
A. NetBIOS

B. OSI

C. SNA

D. TCP/IP

Correct Answer: D

QUESTION 4
What is an example of the implementation of federation?
A. driver\\'s license

B. fingerprint



C. information card

D. iris scan

Correct Answer: C

QUESTION 5

The e-mail service provided by Google (Gmail) is an example of which deployment and service model?
A. SaaS in a Public Cloud

B. SaaS in a Community Cloud

C. laaS in a Private Cloud

D. PaaS in a Hybrid Cloud

Correct Answer: A

QUESTION 6

How can a protocol analyzer be used?

A. to analyze errors in the protocol syntax used in a failed message

B. to distribute messages according to the addressing protocol they use
C. to measure the bandwidth required for different types of transactions
D. to prevent virus infections in the network software

Correct Answer: C

QUESTION 7

What is the purpose of a load balancer?

A. To distribute and balance the load when provisioning/de-provisioning
B. To spread the load of applications over the day

C. To make sure that each network request has exactly one response
D. To generate load on a test server

Correct Answer: A

QUESTION 8



In evaluating a Cloud service provider, which security issue is important?

A. how the service provider implements and maintains security

B. the compatibility of the virus scanners used by the vendor and in your organization
C. the protection provided by your organization\\'s firewall

D. the security protocols used by other customers of the services

Correct Answer: A

QUESTION 9

What does CaaS represent?

A. combining applications in a single access system

B. communication applications provided by an offsite location service provider
C. computer maintenance services provided by an external service provider
D. computing services provided by an offsite location service provider

Correct Answer: B

QUESTION 10

What is specific for public cloud?

A. Itis a client computer connected to a network.

B. It uses both local and remote services in its implementation
C. It uses services provided by an external service provider.
D. The services are shared in the organization.

Correct Answer: C

QUESTION 11

How could presence be used to enhance security in the Cloud?

A. by prohibiting users to access cloud applications, except when on their work place
B. by prohibiting users to access cloud applications at their work place

C. by restricting access to applications, depending on the user\\'s physical location

D. by using a web cam to identify the user of a cloud application



Correct Answer: C

QUESTION 12

What may be a primary driver for a start-up company to move into the Cloud?
A. Lower operational support costs

B. Lower operational expenditures (Opex)

C. Much longer use of Cloud solutions

D. Much shorter implementation time of the infrastructure

Correct Answer: D
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